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INTERNATIONAL KANGAROO MATH CONTEST - 2022
Grade 3 and Grade 4 Questions —Ecolier Level

KY THI TOAN QUOC TE KANGAROO - 2022
Deé thi Lép 3 va Lé&p 4 — Ecolier

Part A: Each correct answer is worth 3 points. Each incorrect answer is
deducted 0.75 point. No point and no penalty for each answer left blank.

Phin A: V6i mdi cAu tra 1oi ding, thi sinh nhin dwoc 3 diém. Véi mbi ciu tri
101 sai, thi sinh bi trir 0,75 diém. Khong tra 1oi, thi sinh khong nhan dwgc diém
va ciing khong bi trir diém.

#1.

Buzz the bee wants to reach the flower.
Which set of directions will get him there.

Trong cac chi dan dudi ddy, chi din nao s& gitp chu ong dén duoc chd bong hoa?
A)—=l—-]]— B)ll—=11 O =l
D)—=—111 E)]—=>—111

#2. Laser beams reflect in mirrors in the way shown in the picture.

Hinh bén dudi minh hoa cach tia laser phan xa trén cac mat guong.
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At which letter will this laser beam end (the mirrors are two-sided)?

Tia laser trong hinh dudi ddy s& di qua chit cai ndo (cac tim guong 1a guong hai mit)?

E
A
T B C
(A) A (B)B (C)C (D)D (E) E

#3. Lan wants to put 2 coins in each row and in each column of the grid. Which coin does
she need to move to an empty cell?

Lan muodn di chuyén mot dong xu trong bang dudi day dén mot 6 trong, sao cho trén moi
hang va trén moi cdt déu c6 dung 2 dong xu. Ban ay can di chuyén dong xu nao?

® O
OO

DO
@& 1O

(A) A (B)B (C)C (D)D (E)E

©

#4. What is the smallest number of boxes that Long has to move to be able to open the
TRAIN box?

Long can di chuyén it nhat bao nhiéu chiéc hop dé c6 thé mé duoc chiéec hop TAU HOA?

A— ol
books/sach o ahac \ooo«\ o -
sic she® ®
[
Stufy S
(¥
eo’ Qn imq /3/ "\/05\@2
tha b5 &
[
[ 74
%%/ books/séch
9"6',,0_ CDs/dia CD
(A)3 (B) 4 ©)5 (D) 6 (E)7
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#5. Kengu always makes one large jump followed by two small jumps on the number line,
as shown in the picture. Kengu starts at 0 and ends on 16.

Khi nhay trén tia s6, cht chudt tui Kengu ludn nhay mot bude dai rdi hai bude ngan, nhu
trong hinh v€. Chu bat dau tir s6 0 va dung lai ¢ s6 16.

0o 2 3 4
What is the number of jumps that Kengu makes?
Hoi Kengu da nhay bao nhiéu budc?
(A) 4 B)7 (©)8 (D)9 (E) 12

#6. Hoa makes a jigsaw puzzle where two squares with common sides do not contain the
same number.

Hoa muén ding cac miéng ghép dé xép thanh mot hinh vudng 16n, sao cho hai 6 vudng
nhd canh nhau bat ky déu chura hai so6 khac nhau.

312(5/4]2]1
114131134
215 b 211
411 3
312[(4/2]5]2
411]3]1/3]4

Which piece should she use to complete her jigsaw puzzle?

Miéng ghép nio 1a miéng ghép con thiéu?

4 1 2 2 3
wlL2]3] g [31472] ([411138] p [311T4] 2114

#7. Which two numbers can be written in the two boxes to make the statement correct?

Hai s0 nao trong cac s6 dudi day co theé duogc dién vao hai 6 trong dé c6 dugc mot so sanh

ding?

2022 + [ = 2020 + I
(A)3and 5 (B)4 and 1 (C)3and 4 (D) 7 and 2 (E)9 and 8
(A)3vas B)4val (C)3va4d (D)7vaz2 (E)9vag
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#8.

Doanh builds the tower shown. What will he see if he looks at his tower from above?

Doanh xay mot toa thap nhu trong hinh trén. Khi nhin toa thép tir trén xudng, ban ay s&
thay hinh nao?

(A) (B) © (D) (E)

Part B: Each correct answer is worth 4 poeints. Each incorrect answer is deducted 1
point. No point and no penalty for each answer left blank.

Phin B: Vé&i mdi ciu tra 1o ding, thi sinh nhan dwoc 4 diém. Véi mdi ciu tra 10i sai,
thi sinh bi trwr 1 diém. Khong tra loi, thi sinh khong nhan dwoc diém va ciing khong
bi trir diem.

#9. Five cars numbered 1, 2, 3, 4 and 5 are moving in the same direction.

Nam chiéc xe 6-t6 dugc danh s0 1, 2, 3, 4, 5 va di chuyén cung chi€u véi nhau.

e B B e

- 5

First, the last car (5) overtakes the two cars ahead of it. Next, the second last car overtakes
the two cars ahead of it. Finally, the middle car overtakes the two cars ahead of it.
In what order are the cars now?

Dbau tién, chiéc xe di sau cung (s6 5) vuot 1€n trén hai chiéc xe di trudc nd. Sau do, chicc
xe di ap chot lai vuot 1én trén hai chiéc xe di trude nd. Cudi cung, chiéc xe di gitra vuot 1én

trén hai chiéc xe di trudc nd. Thir ty nao 1a tha tu sau cung cia nam chiéc xe?

,5,4 (©2,1,5,3,4
5.3
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#10.

T
& Al

The ages of a family of kangaroos are 2, 4, 5, 6, 8 and 10 years. The sum of ages of four of
them is 22 years. What are the ages of the other two kangaroos?

Tudi cua cac thanh vién trong mot gia dinh chudt tti la 2, 4, 5, 6, 8 va 10. Bbn trong sb
chung c6 tong so tuoi 1a 22. Hoéi hai cha chudt tii con lai bao nhiéu tuo6i?

(A)2and8 (B)4and>5 (C)5and 8 (D) 6 and 8 (E) 6 and 10
(A)2vas8 (B)4vas (C)5vas (D)6vas (E)6valo

#11. During my holiday I sent the five postcards shown below to my friends.
There are no ducks on Mai’s card.

Chi’s card has the sun on it.

There are exactly two living creatures on Phong’s card.

Lam’s card has a dog on it.

There are kangaroos on Huy’s card.

Which card did Mai get?

Trong chuyén du lich nghi hé, toi giri nam tAm buu thiép cho nam nguoi ban clia minh.
Trén tdm buu thiép cia Mai khéng ¢é hinh vit.

Trén tdm buu thiép ctia Chi cé hinh mat troi.

Trén tam buu thiép ctia Phong c6 hinh ctia ding hai con vat.

Trén tdm buu thiép cia Lam c6 hinh mdt chu ché.

Trén tam buu thiép ctia Huy ¢ hinh chudt tai.

Tam buu thiép nao 14 tim buu thiép ctia Mai?

(A) H (B)
R |

D) (E)

(©)
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#12.

4

Minh wanted the sums of the three numbers in each row and in each column of the grid to
be the same. He made one mistake. Which number must he correct?

Minh muon dién céc s0 vao bang sao cho tong cac so trén moi hang hodc trén moi cot déu
bang nhau, nhung ban ay da viét nham mot s0. Ban ay can sura s6 nao?

(A1 (B)3 (C) One of the 4s ’ (D)5 (E) One of the 7s ’
(A1 (B)3 (C) Mot trong hai s6 4 (D)5 (E) Mot trong hai s6 7
#13.
[ [ ] [ ] [ ]
o [ ([
[ ] [ ]
[ [
[ ] [ ]
[ ] [ ]

Aladdin has a square carpet. There are the same number of dots, arranged in two lines,
along each side of his carpet. Unfortunately, the carpet has folded. How many dots are
there on Aladdin’s carpet?

Aladdin c6 mot tim tham hinh vudng. Doc theo mdi canh cua tam tham déu c6 mot sb
cham bang nhau, dugc x€p thanh hai hang. Trong hinh v€ 1a tam tham bi gap lai mdt phan.
C6¢ tat ca bao nhiéu cham trén tam tham?

(A) 48 (B) 44 (C) 40 (D) 36 (E) 32
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#14. Giang folds the number square twice, as shown. Then she punches a hole through the
black spot pointed by the arrow.

Giang gap tdm bang s hinh vudng hai 1an, roi duc mot 16 & 6 duge danh dau, nhu trong
hinh dudi day.

11213141516
819 1(10(11]12
13]14] 15[ 16]17[18 -, P
19(20]21]22|23(24 ¢
25126(27(2829(30
31/32(33(34|35(36
\_/
Which numbers does she punch through?
Nhiing sb6 ndo nam trong cac 0 bi duc?
(A) 8,11, 26,29 (B) 14, 17, 20, 23 (C) 15, 16, 21, 22
(D) 14, 16,21, 23 (E) 15, 17, 20, 22

#15. The pupils in a class sit in rows. There are the same number of pupils in each row.
There are 2 rows of pupils in front of Thanh and 1 row of pupils behind him. In his row,
there are 3 pupils on his left and 5 pupils on his right. How many pupils are there in this
class?

Cac hoc sinh 16p 4A xép thanh cac hang ngang, mdi hang c6 cung mot s6 hoc sinh. Trudce
mat Thanh c6 hai hang, sau lung cdu c6 mdt hang. Trong hang ciia minh, Thanh dém dugc
3 ban ¢ bén trdi va 5 ban ¢ bén phai cau. Héi 16p 4A c6 tat ca bao nhi€u hoc sinh?
(A) 10 (B) 17 (C) 18 (D) 27 (E) 36

#16. The cube in the picture is built from the three kinds of wooden blocks shown.

Khéi 1ap phuong trong hinh dudi ddy dugc ghép tir ba loai manh ghép bén tréi.

%I@*

How many white wooden blocks are used?
C6 tat ca bao nhiéu manh ghép mau tring da duoc dung?

(A) 8 (B) 11 (C) 13 (D) 16 (E) 19
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Part C: Each correct answer is worth 5 points. Each incorrect answer is deducted
1.25 points. No point and no penalty for each answer left blank.

Phin C: V&i mdi cau tra 1oi dang, thi sinh nhan dwoc 5 diém. Véi mdi cAu tra 10i sai,
thi sinh bi triwr 1,25 diém. Khong tra 1o, thi sinh khong nhian dwgc diém va ciing khong
bi trir diem.

#17. Vy chose some of the following shapes and said “Among the shapes I have chosen,
there are 2 coloured ones, 2 large ones and 2 round ones.”

Vy mudn chon mdt sd hinh tir cac hinh dudi day, sao cho trong dé c6 hai hinh mau xam,
hai hinh 16n va hai hinh tron.

_ WANG

What is the smallest number of the shapes that Vy could have chosen?

Hoi Vy can chon it nhat bao nhiéu hinh?
(A)2 (B)3 (€) 4 (D)5 (E) 6

#18. Three football teams participate in a sports tournament. Each team plays with the other
two teams exactly once. In each game, the winner gets 3 points and the loser doesn’t get
any points. If the game finishes in a draw, each team gets 1 point. At the end of the
tournament, which number of points is impossible for any team to have?

Trong mot giai bong da c6 ba doi tham gia, cac doi thi dau vong tron mot luot voi nhau
(hai doi bat ky dau véi nhau dung mot trén). Trong mdi tran déu, doi thang dugc 3 diém,
doi thua khong dugc diém nao; néu két qua ‘hoa thi mdi doi duge 1 diém.
S6 nao trong cac so sau khong thé 1a sb diém cudi cing ciia mot doi bong nao ca?

(A)1 (B)2 (©) 4 (D)5 (E)6
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#19.

view from above/
nhin U trén xuéng

A pyramid is built from cubes with 10 cm side. An ant climbed up and over the pyramid,
as shown by the dash line. What is the length of the path walked by the ant across the
pyramid?

Trong hinh v& 1a mot kim ty thap x4y bang cac khdi 1ap phuong canh 10 cm. Mot con kién
tréo tir bén nay sang bén kia kim tu thap theo duong nét dut. Tong dd dai duong di ctia con
kién trén kim tu thap bang bao nhiéu?

(A)30cm (B) 60 cm (C) 70 cm (D) 80 cm (E) 90 cm

#20. Oanh wants to put one of the pieces shown in the middle of the picture so that a child
in A is able to travel to B and to E, but not to D. The pieces can be rotated.

Oanh muén dit mot trong cac manh bén phai vao giita hinh bén trai sao cho tir A c6 thé di
dén B va E, nhung khong dén dugc D (c6 thé xoay cac manh).

E in 1 2 3
D A
4 5

C B
Which two pieces could she use?
Ban 4y c6 thé dung hai manh nao?
(A) I and 2 (B)2and 3 (C)1and 4 (D)4 and 5 (E) 1and 5
(A)1va2 (B)2va3s (C)1va4 (D)4vas (E)1vas
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#21. Khanh and Hoan start moving from point A at the same speed, in the directions shown.
Khanh walks around the square-shaped garden and Hoan walks around the rectangular-
shaped one.

Khanh va Hoan cung xuét phat tir diém A va di véi ciing van tdc vé hai huéng khac nhau,
nhu trong hinh v&. Khanh di quanh khu vuon hinh vuong, Hoan di quanh khu vuon hinh
chir nhat.

5m
& ‘
= =
ary,
N < §—> 10m
AT 4@ X
Zhs TR A
& A\ "N, E
Z N R
L% > b Ao
o ™ k‘ }7/§ - A
A P i % 73
A F4ia E
10m

What is the smallest number of laps around the square-shaped garden that Khanh must
walk before he meets Hoan again at A?

Hoi khi hai ban gdp lai nhau tai diém A, Khanh di di dugc it nhat bao nhiéu vong quanh
khu vuon hinh vuéng?

(A)1 (B)2 (©)3 (D) 4 (E)5

#22. Five children ate some plums. Linh ate two plums more than Sam. Nam ate three
plums fewer than Linh. Chi ate one plum more than Nam and three plums fewer than Thu.
Which two children ate the same number of plums?

Niam ban nho ciing n man. Linh 4n nhiéu hon Sam hai qua. Nam #n it hon Linh ba qua.
Chi 4n nhiéu hon Nam mét qué va it hon Thu ba qua. Hoi hai ban nao in cing mét s6 qua
man?

(A) Chi and Linh (B) Chi and Sam (C) Linh and Thu (D) Sam and Thu (E) Thu and Nam
(A) Chiva Linh (B)ChivaSam (C)LinhvaThu (D)SamvaThu (E) Thuva Nam
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#23.

0 @ O U

The small caterpillar shown in the picture curls up to sleep. What might that look like?

Trong hinh trén 13 mot cht sau. Khi cudn lai di ngu, chi ¢6 thé trong giéng hinh nao trong

cac hinh sau?
(B) %} (©) m
® m

— 34

(A)

(D)

#24.

—= 32

—= 26

In the grid, the same number is hidden under the same colour square. To the right of each
row, the sum of the numbers hidden under the squares in that row is given. Which number
is hidden under the black square?

Trong bang vudng ¢ hinh v€, cac 6 cung mau che di nhitng s6 bang nhau. SO ghi bén phai
moi hang 1a tong cac so trong hang d6. O mau den da che di s6 nao?

(A) 6 (B) 8 (C) 10 (D) 12 (E) 14

THE END / HET
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